CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
, Kevin Clement	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	RAL CANDIDATE E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED
Candidate name:	
Kevin Clement	
Authorized committee:	
N/A	
Agency requesting time (and contact information):	
✓ N/A	
Candidate's political party:	
Republican	
Office sought (no acronyms or abbreviations):	
Mayor City of Thibodaux	
Date of election: November 8,2022	✓ General Primary
Treasurer of candidate's authorized committee:	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candid	date listed above;
(2) this station is authorized to announce the time as paid for b	y such person or entity; and
(3) this station has disclosed its political advertising policies, inc	
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Und Daigle
Name: KEVIN K CLEMENT	Name: Und Mig 4
Date of Request to Purchase Ad Time: 10/12/2020	Date of Station Agreement to Sell Time: 10 12 2027

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast. Candidate/Authorized Committee/Agency Signature: Name: Date: TO BE COMPLETED BY STATION ONLY Ad submitted to Station? No Date ad received: Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy). Federal candidate certification signed (above): Yes No N/A Disposition: Accepted Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)* Rejected - provide reason: *Upload partially accepted form, then promptly upload updated final form when complete. Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag): Contract #: Station Call Letters: Date Received/Requested: WGUO FM October 12,2022 Est. #: Station Location: Run Start and End Dates: October 19, 2022 to November 8,2022 Houma, LA Upload order, this form and invoice (or traffic system print-out) or other documents reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.



WGUO

CLIENT NUMBER		CART	NEW		х	SALE							NUI	MBER	DATE	
CLIENT			REV	_		Cyr	di D	_					_			10/12/2022
Kevin Clement for Ma	vor						AGL	NO I								
BILLING ADDRESS	,						_								COM	MISSION
205 St Michael St Thi	bodaux	, LA 70301														
CONTACT NAME												EMAIL ADDRE	SS			
Kevin Clement			18													
TELEPHONE # 985-803-0142			FAX	#												
CO-OP	MANUEA	CTURER	DDO	DUC.	T #1			_	Ippo	DUCT#	12		DD.	ODUCT #3		
00 01	MANOLA	OTORER	li Ko	DOG	1 77 1				"	700017	72		"	00001#3		
YES]														
CONFLICTS																
SALES TYPE																
COMMERCIAL	Y	1	10/E 0	THE	n			ı			DEMOTE		1			
INCOME TYPE	1		WEA	THE	K		- 3				REMOTE		DAG	CKAGE/PRO	CDAM	NAME
INCOME THE													^`	CIVIGLIFICO	GIVAIVI	IAVIAIC
LOCAL LOCAL AG	ENCY	NATIONAL AG	ENCY	,		POL	TICA	L		TRADE						
BILLING STD BRD/IN	VOICE		AFF		TIS	8 70		STA	RT				STO	OP		
METHOD PYMT IN ADV	/ANCE		YES			NO						10/19/2022				11/8/2022
ACCOUNTING 0	1														TOTA	L\$
. \ 20	QU															4 0 40 00
		LIGUIDO	Lan	~	111	_	-				DATE	4.004/4	_	** **********************************	\$	1,848.00
DATES TO RUN 10/19-10/21	LEN.	HOURS	M	Τ	W	T 4	F	S	S	#wks	RATE	#/WK	•	\$/WK	•	\$ TOTAL
10/19-10/21		6a-7p	-	4	4		4			1	28	12	-	336.00	\$	336.00
		6a-7p	4	4	4	4	4		_	1	28	20		560.00	\$	560.00
10/31-11/4		6a-7p	4	4	4	4	4			1	28	20	-	560.00	\$	560.00
11/7		6a-7p	4	_			_		_	1	28	4		112.00	\$	112.00
11/8	30	6a-2p	_	4					_	1	28	4		112.00	\$	112.00
										1	0	0	\$		\$	
10/22,10/29,11/5	30	6a-2p						2		3	28	2	\$	56.00	\$	168.00
										1	0	0	\$	-	\$	-
										1	0	0	\$	-	\$	2
										1	0	0	\$		\$	
										1	0	0	\$		\$	<u>*</u>
										1	0	0	\$		\$	
										1	0	0	\$		\$	-
										1	0	0	\$	*	\$	•
										1	0	0	\$	færi.	\$	2
			iii							1	0	0	\$	360	\$	¥
										1	0	0	\$		\$	
										1	0	0	\$	₩ /	\$	
			İ							1	0	0	\$		\$	*
			1 "						\vdash	1		0	\$		\$	-
						П				1		0	\$	-	\$	-
										1		0	\$	20	\$	_
										1		0	\$		\$	2
			1							1		0	\$		\$	
Jan		Apr		_			Jul		_						Ψ	
Feb.		May												-		
Mar		Jun												0.0		
																1
COMMENTS																
New Pieces 1 11 12 12		-		1-	d.	AT: T										
Non-Discrimination C	ause: "	one relation	to th	IS a	dver	TISII	ig a	gree	mei	nt affir	m that no	othing in thi	sa	greement,	ora	ny of the
actions, benefits and Account balances for which p	avment by	e not been rece	ived.	vithin	the	iina	te ir	an	y wa	y on t	ne pasis	of race or e	ınn	icity.		
month following broadcast da	te will be	subject to a SEF	RVICE	СНА	RGE					Adverti	ser/Agency					2
computed on a monthly "PER											_					
the principal balance which is	ANNUAL	PERCENTAGE	RATI	of 1	8%					Station	Representa	ative	_			

94.9 WGUO PO BOX 20099 HOUMA, LA 70360 USA

Order #:

929-00002

Description:

Date Entered:

10/12/2022

P.O.#: Salesperson: Station List 25, Cyndi

Invoice Frequency: Billed at end of Cal Month, Sorted by Date

KEVIN CLEMENT FOR MAYOR 205 ST MICHAEL ST THIBODAUX, LA 70301

On-Air Schedule

7	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	10/19/2022	10/21/2022	WGUO-FM	06:00:00	to 19:00:00	Weekly	:30	12	28.00	336.00	4	4	4	4	4	0	
2	11/8/2022	11/8/2022	WGUO-FM	06:00:00	to 14:00:00	Weekly	:30	4	28.00	112.00	0	4	0	0	0	0	0
3	10/22/2022	11/5/2022	WGUO-FM	06:00:00	to 14:00:00	Weekly	:30	6	28.00	168.00	0	0	0	0	0	2	0
4	10/24/2022	10/28/2022	WGUO-FM	06:00:00	to 19:00:00	Weekly	:30	20	28.00	560.00	4	4	4	4	4	0	0
5	10/31/2022	11/7/2022	WGUO-FM	06:00:00	to 19:00:00	Weekly	:30	24	28.00	672.00	4	4	4	4	4	0	0

Spots: 66 **Total Charges:** \$1,848.00

Projec	ted Calendar Mon	th Billing Totals for KEVIN	CLEMENT FOR MAYOR / 92	9-00002 :
		Spot Count	Net Billing	
October	2022	40	\$1,120.00	
November	2022	26	\$728.00	
Total:		66	\$1,848.00	

Confirmed & Accepted for 94.9 WGUO By:

Accepted for KEVIN CLEMENT FOR MAYOR By:



NGUO 1848-KCIL 1221-KJIN 315-